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1.

Each question carnes 1 mark,

_ . Bx1= 6 Marks
2. Answer any two fr{::m (a], {b}, ( ), (d) of
Question No. 2. Each question carries

4 marks. 2% 4= 8 Marks

. Answer any two from (a), (b), (c} (d) of
Question No. 3. Each quesuon carrics
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Question No. 1 is.of Mulhple Chmce type
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. Answer any two from (a), (b), (¢}, (d) of

Question No. 4. Each question carries
6 marks. 2 x 6= 12 Marks

- Answer any two from (a), (b), (c), (d) of

Question No. 5. Each question carries
8 marks. 2 x 8 = 16 Marks
Answer any one from (a) and (b) of
Question No. 6. Allotted marks for this
question is 10. 1x 10 =10 Marks

. Answer any one from (a) and (b} of

Question No. 7. Allotted marks for this

question is 10. 1 x 10 = 10 Marks

T T & T @vE § A e R

e faeer g IW O IE-Ufas d
fefay - | "

%) Na m%@ﬁ@ﬁw[bcc}wéﬁw'

% Twefea @iar &1 Na & 30 PR

Gl T qXATgST T e
o2 - i) 4
_ iii) 9 iv) 14.
) TJ"{WHWW&%W@W
FHIT %
i) 1 i 1-8
i 18 iv) 0018

| Turn over

347(GB)

T[j

)

) :

4

feafotad 7 e wifufma s

Ueh1vieh f'{ / )

i) M, + I, ——> 2HI

i1} CH,COOCH, + H,0 —
CHSCOOH +CH,0H

1ii) PCI:j + Cl, » PClg

>

2FeCl, +SnCl,
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iv}. 2FeCl, +3nCl,

i) CHy © il CH ,CHO
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1. Four alternatives arc given in each part

of

this  question. Select the correct

alternative and write it in your answer-
book :

a)

b)

i) - 18 iy

XI-666

Na crystallizes in the form of body
centered cubic ( bec ) structure. The
number of Na atoms 1r1 its unit cells
would be .

1) 2 i) 4

iy} 9 1) 14,

In 1 molal aqueous solution, the

mole fraction of solute is

._ilJ'--l,' i) 18

0018

-_-Wh‘mh Gf the foliomng reactmns 1s

_;.:'. S
: -'l T‘#.J_ i

_ pseudo ummﬂiecular ?

i) H, +1, —~——>2HI

i) CH, COOC!—I $H0 5>
LT QHECGOH-;CﬁaoH

iii) 'Pc13 +"C1_'?%PCls |

iv) '2FeCl; +SnCl, ——

2FeCl; +SnCl,
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On heating acetic acid with PZOE,

which of the following compounds is
obtained ?

) CH, iij CH,CHO

iii) (€CH,C0),0 iv) CH,COCH,.
CH;

CH;?(%”NHQ comes in which of the
CH,

following groups ?

i)  Primary amine

ii) Secondary amine.

ilij Tertiary amine

iv) None of these.

Which of the following
carbohydrates works in the form of
reserve glucose in the body ?

i)y Starch ii) Fructose

iii) Glycogen iv) Sucrose.
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Silver- crystallizes in -facf_: centéred

" cubic { fee) structure. If the distance

between the nearest silver atoms in
this structure is 287 pm, find the
density of silver. Atomic mass of
107-87 ¢ mol™"  and
N, =6-02x10"mol

silver

[f 22 pram benzene is dissolved in

122 gram carbon tetrachloride,
calculate the mass percentage of

Lerzene and carbon tetrachlonde.
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Calculate the eo.m.f.

place

Ni(s)+ zAg*(o -002M)—

2*(0-160M) - 2Ag(s)

Giverl that E] =1-05V.

Write a short note on Tyndall effect.
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How will you differentiate between

the following ?

i) - Hexagonal close packing and

) cubic close packing structure
1) Crystal ldtt]ce and unit cell.
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i)  What is obtained on the

_ 24
reaction between Cu™ion
and ammonia ?

i) What are noble* gases ? le_itaﬁ

_ the names of noble gases.

What do you  understand ° by=
unidentate and bidentate llgands ':’
Explain giving one example ‘each.
What do you understand by pep‘ude
bonds in protein ? Explam w:lth
Examplf: https /1 wvm upboardonlme com
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Comment 01 the chandges + in
conductivity and molar conductivity
with concentratior®. The conductivity

Cof 000241 M acetic  acid s

7-806 x 10 5a cm . Calculate its

molar conductivity. ,
Differentiate - between physical
adsorption and chemical adsorption
with example.

Write short notes on the following :

i)° Carbylamine reaction

ii) Diazotization reaction.

What are carbohydrates ? Explam
by giving - example. How s
glucosazone obtained from glucose ?
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)  [Co(NH,)CI|Cl,

i) K,[Fe(CN)]

i) [Ni(NH,),]Cl,

Define solution. How many types of
solutions are possible ? Write in

short about each type of solution

giving one example for each. =

i}  Describe the factors affecting
the rate of a chemical reaction.2

ii) Starting with 1 mole of a
compound, it was found that in
one hour, the reaction is three-
fourth complete. Calculate the
rate constant if the reaction
follows first order.

What is Lanthanide contraction ?
[)iscuss the causes and
COTSEqUENCES of Lanthanide
contraetion.
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What is coordination number ? Give
one ¢xample.

Write the IUPAC names of the
following coordination compounds :

i) [Co(NH,),Cl|CL,

i) K,{Fe(CN),]
i) [Ni(NH,)]CL,
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Describe the laboratory method for
the preparation of sulphur dioxide.
Write its oxidizing and reduecing

property. Write two uses of SO,

- OR LT
Comment on the general properties,
clectronic ™ configuration, atomic
size, ionization enthalpy and
electronegativity  of .. group 15
elements. - https://www.upboardonline.com

- Write notes on the following :

i} ~ Kolbe reaction :
11) Friedel- Crafts reactmn —
Alkylation of anisole

~.iii) Williamson synthesis.

OR :
What is Lucas test ? It is used for
the identification of which type of
compounds ? Wnte with example
and chemical equations.
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- CHOH

ii) {CH_.}]EC(JHQBrT
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Complete the following reactions :
)  CH,CH,CHC, XOH, KOH.
Cﬂ*sOH
} [CH ]acCH BrT
+ SOCl,———>
+ Mg ——>
‘Ether
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How will the following conversions.
be obtained { Give chemical
equations only ) ? :
i)  Bromoethane from ethane
ii} Biphenyl fmm chlorobenzene
[ Turn over
¥ 11600
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) meoctane [rom [-chlorobutane
vl 1-chloro 4-methyl benzene from
chlorobezene

v]  Phenol from chlorobenzene.

Write short notes on the following :

i)  Gatterman-Koch reaction

i) Aldol condensation

iii) Cannizzaro’s reaction.

o OR

What happens when — - : _

i}  Acetic aeid reacts with ethyl
alcohol ? '

il)  Acetic acid reacts _-w_ith thionyl

chloride ? -

iiif Benzoic acid = reacts with
ammonia ?

1v) Carboxvlic acid reacts with

- phosphorus pentachleride ?
v] Benzoic acid is nitrated ?




